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0) For uhok Values of b s the matrix

(o0

posihve definike ©

b) Use the MATLAG (ode yprovided on the

Couvse webs.te  (ov Youv own) o plot

T b 1
U vy
[ b g
,FQ( Yovree values

mairix 'S 1') Pos;H\IQ daem"'c.
cemi debate

f b Wheve the

w) \)
(Jbt) inAeG'm"re .

Hand 1n 3 p(n’rs' ik values & b,
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( sechons 112 & |4
Flake differences , invevsey A dali= F*"C»’k°"35

Q) SO\\IG
4—2—-"—‘ -— = ’
A A fay = & (=x-1)

b)  With N=S and h =55,

Write the  linear equaho, fhet

i gek by  dpplying -@in:’re differencel

to the  prblem 17 (9),
(he  equabeon 15 of the form Ax=b, and
Pou Mmusk  give A, 2% and b e,,r.pl.'c.'l'_l, )

Hink: chedc with Yhe MATAR Gde va‘.m
on the  Couvse webs, +e .




) Pt fer = 4 1 (a).

I‘) Solve ‘@\l" w () exa.d‘(:,

Ty,

W) Wwerte the E‘n{‘re diference equq‘\';on)
wth « Sx 4% wmalrix  (N=5),

W) ovn the Same afe.p)n) plu‘\‘ the exad
S'lu‘\;nn ane the ﬁﬂ”‘e d.'\CFQPmCL
apPProc)meafea. Heand s 'hf\-e P(o“‘ :

iv) does the finite differena approximebia
agree -Q/xc.dd.:, UJ\'\'L) the '\'Tue. .Sv'uHOﬂ?

V) Whatr ¢ the ovdev of acc.urq%

a s N betomes [q\rge. P

(H.‘nh use Fhe MATLAR ek prov,ded 0n
e  Couvse wdos;\*e, and Jm:) Loblojpfoh)




Question 3

(Sec\'ior)s a-\ & 2-a Spv;'ns;& VHQSSQS.)
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a) Wete Yhe wmatvxe A 4ok Avees Hhe

@tﬁﬂad\‘\'\)ang e OF +he sP*l"‘ﬂS) when
applied T the d«'splacemenh w .

: T
k) Weibe Yhe sh e YYIC\JP(\x__ K =8 CA

¢) With m,-:m;_=M'~‘-Q and C1:CQ=C3=C=9

(so dowvward focce 0©n ass due h 31’1'\11’1‘3 s \ma)
an o\ 9=40

=[]
solve Zor the d.t's\o\atemen'\'s W= Lu) .

d) With M = Lm, m,_-_() Gmd M), My and all pavameters
e Same vealues as bo.-ﬁ:re) the eqjua'n'ow
ImMmuw" + K w = o\ L
has th’UAVG\\ -e-fewena'e( O-F OS'C\“thon.
Wit s dne. fasbest fropuey ? (AN,

Place




